TR20FE

B L CIEHKE,
= AR COD#EH! |A(##BhA) A Hh S i e
1)
R St.2 B ExR-#ER - _
—RIEE _
Kig (°C)
XiE _[SE(C) =B e 2KE il iR =Xz R
48 £l 20.5 17.9 - 36.0 6.0 BE #E-E mR
68l BEh 24.5 21.2 - 36.0 4.2 BE REf mR
s8Al BEh 31.5 26.8 — 37.0 9.0 BE a8 mR
108 BEh 26.5 24.6 — 37.0 10.5 BE kEf-E| &R
128| ®Bh 18.8 20.5 - 38.0 9.5 BE kEf-E| &R
28| Bh 13.4 16.2 - 37.0 9.5 BE  (KER-E| #S
4FRRIFIER
oH DO COD |XBEHH |h-~FH UM 22X EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
REME| 1.8~83] 15LLE | 20LLF | 1000ELF | JERRH — —
EE(75%1E) - 8.1 1.1(1.4) 0.67 <0.5 0.15 0.012
48 == 8.1 8.6 1.3 0.0 <0.5 0.13 0.015
hE - - - - - - -
68 EAC 8.1 7.8 1.4 0.0 <0.5 0.18 0.013
hE - - - - - - -
8H EAC 8.1 7.5 1.4 0.0 <0.5 0.20 0.013
= 8.2 7.7 0.8 4.0 <0.5 0.09 0.005
= 8.2 7.4 1.0 0.0 <0.5 0.14 0.011
oH == 8.2 9.6 0.8 0.0 <0.5 0.13 0.015
e - - - - - - -
BEIEE (REDHEHAD
NP INESIS P o) ANEivoL| #ME #ikéE |[7rxLkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH JERH |
:'Z _ _ — — — — — —
4K - - - - - - - -
6H - - - - - - - -
8H - - - - - - - -
10R - - - - - - - -
128 - - - - - - - -
2R - - - - - - - -
ynni| migke [1,2-0900( 1,1-C4an [ zx-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2 o IRy IFLY |BoaIFLy (= ok 3 oxsy IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006LLF [ 0.03LL'F
S'Z - - - - - - - -
4K - - - - - - - -
6H - - - - - - - -
8H - - - - - - - -
10R - - - - - - - -
128 - - - - - - - -
2R - - - - - - - -




Th3Y8a0(13-29n0 = s pese, | FAN S, 45 .
T:l:;'-py |:|7|:|//\°> FoSL | IRDY j;)[,jj 0 Ly PR
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| BBl 0.01LLF | 000280 F | 0.006LLF | 0.003LLF [ 0.02LLF | 0.01LLF | 0.01LLF 10LLF
SF — — — — — — — —
4R - - - - - - - -
6H - - - - - - - -
8H - - - - - - - -
10A - - - - - - - -
12H - - - - - - - -
2H - - - - - - - -
EDHIEE
Jz/—L| 8 ss 2mR |soofns| e
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HiE| - - i - - -
=RE - - <1 - - -
4R ; B = = = = = =
JE - - 2 - - -
— — <‘I — — —
— — ‘I — — —
10A ; E — — — — — —
— — <‘I — — —
12A ; ,’: — — ~ — — —
— — <‘I — — —
2R i — — = — — —
alch | BEEE | ommne
(mg/1) (mg/1) (mg/1)
ESTE] 18000 - -
=B 17000 - -
4R ; ,’: = — —
18000 - -
6R ; E = — —
18000 - -
8H ; ,’: = — —
18000 - -
10A ; E ~ — —
19000 - -
12A ; ,’: = — —
= 19000 - -
2A i ~ — —




TR20FE

B L CIEH KB,
3 1) b b s
5 B A — COD#EH! |A(H#EH) B AR ST I
St4 [ER-HEE - _
—RIEE _
KR (°C)

XiE _[SE(C) =RE e 2KE 75 B FE T =X 2=
48| =Y 21.0 17.9 17.9 41.0 6.7 A TR - = BR
68l BEh 24.5 21.2 21.2 37.0 4.5 BE REf mR
8H BEh 31.0 27.1 27.0 37.0 10.0 BE a8 mR
108 BEh 26.0 24.6 24.9 37.0 12.0 BE kEf-E| &R
128| ®Bh 18.8 20.5 20.5 38.0 9.5 BE kEf-E| &R
28| Bh 135 16.5 16.4 38.0 16.0 BE 5E-E mE

4FRRIFIER
oH DO COD |XBEHH |h-~FH UM 2L=TX EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
EEME| 78~83] 755 F | 20LLF | 1000LLF | JEEH — —
EE(75%1E) — 8.5 1.2(1.4) 1.4 <0.5 0.15 0.011
48 =E 8.1 8.8 1.1 0.0 <05 0.10 0.014
GIE 8.1 9.1 0.9 0.0 - 0.13 0.014
65 == 8.1 8.1 1.4 0.0 <0.5 0.15 0.011
GIE 8.1 8.7 1.3 0.0 - 0.17 0.011
8H == 8.1 7.4 1.7 0.0 <0.5 0.17 0.011
GIE 8.1 7.7 1.7 0.0 - 0.21 0.012
105 == 8.2 7.7 1.8 4.0 <0.5 0.25 0.005
GIE 8.2 75 0.9 13 - 0.13 0.006
125 == 8.2 8.3 0.9 0.0 <0.5 0.10 0.012
IE 8.3 8.5 1.0 0.0 - 0.14 0.011
oH == 8.2 9.8 0.7 0.0 <0.5 0.12 0.013
B 8.2 9.8 0.8 0.0 - 0.12 0.013
BEIEE (REDHAEHAD
N INESS S &0 ANE/RL| MR fikéR |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
E <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 - <0.0005
4K - - - - - - - -
68| <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 - <0.0005
8H - - - - - - - -
10A]| <0.001 <0.1 <0.005 <0.02 0.001 <0.0005 - <0.0005
12H - - - - - - - -
2R - - - - - - - -
yani| migke [1,2-0900( 1,1-C4an [ zx-1,2-4(1,1,1-F)40] 1,1,2-ry4a | BJoAA

) o IAaY IFLY | AAxTFLY oT4ay oT4y IFLY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)

| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006 LLF | 0.03LLF

E <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
4K - - - - - - - -
68l <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8H - - - - - - - -
108] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
12H - - - - - - - -
2R - - - - - - - -




FhS54H00(1,3->40 = NN FARY ST . WREEREY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF [ 0.006 LF [ 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
o <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.07
48 - - - - - - - -
6 H <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.12
8H - - - - - - - -
10A <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.02
128 - - - - - - - -
2H - - - - - - - —
ZTNDIEE
Jz/—1 i SS 2EH |(yookns 77;'?;‘|L:\F
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
SFﬁﬂI_E <0.02 - 1 <0.005 <0.001 <0.008
E3E] - - 1 <0.005 - -
41 th — — ] — — —
68 AL <0.02 - 2 <0.005 <0.001 <0.008
= - - <1 <0.005 - -
8H hE - - <1 - - -
108 AL <0.02 - <1 <0.005 <0.001 <0.008
hE - - <1 - - -
=E - - 4 <0.005 - -
12R hE - - <1 - - -
=E - - 4 <0.005 - -
2
A ] — — ] — — —
By | EHEEEM . .
(mg/1) (mg/1) (mg/1)
EBIE|] 18000 - 0.01
48 E3E] 17000 - <0.01
B 17000 - -
68 AL 18000 - <0.01
th B 18000 - -
8H AL 18000 - <0.01
B 18000 - -
AL 18000 - <0.01
10AH th S 18000 - -
AL 18000 - <0.01
12H th S 19000 - -
28 xE 19000 - 0.01
) 19000 - -




TR20FE

B L CIE DK,
= AR COD#E! |AGG#HBIR) AR Hh ST iE
1)
BRE s | BE Emowmm =
—iRIEE _
K& (°C)
XiE _[SE(C) =RE e 2KE 75 B FE T =X 2=
48 £l 21.0 18.0 — 16.0 7.5 BE e mR
68 BEh 24.5 215 — 15.0 3.0 BE REf mR
8H BEh 30.5 27.3 — 17.0 9.0 BE a28-E mR
108 BEh 26.0 24.7 — 15.0 14.0 BE kEf-E| &R
128| ®Bh 18.8 20.4 - 18.0 8.5 BE kEf-E| &R
28| #Eh 13.5 16.6 N 16.0 13.0 BE  (KER-E| #S
4FRRIFIER
oH DO COD |XBEHH |h-~FHUH 2=H EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
RENE| 1.8~83] 15LLE | 20LLF | 1000ELF | JERRH — —
EE(75%1E) - 8.3 1.2(1.4) 0.0 <0.5 0.23 0.012
48 =E 8.1 8.7 1.3 0.0 <05 0.34 0.019
hE - - - - - - -
65 == 8.1 9.2 1.4 0.0 <0.5 0.26 0.011
hE - - - - - - -
8H == 8.1 7.1 1.7 0.0 <0.5 0.24 0.011
= 8.2 7.7 1.1 0.0 <0.5 0.20 0.006
= 8.3 8.0 0.7 0.0 <0.5 0.14 0.011
oH == 8.2 9.3 0.8 0.0 <0.5 0.19 0.014
e - - - - - - -
BEIEE (REDHEHAD
ISP INESS o) ANfivoL| HE #ikeE |7ZrxikE| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
:F _ _ — — — — — —
4K - - - - - - - -
6H - - - - - - - -
8H - - - - - - - -
10H - - - - - - - -
12H - - - - - - - -
2R - - - - - - - -
yani| migke [1,2-0900( 1,1-C4an [ z-1,2-4(1,1,1-F)40] 1,1,2-ry4a | FJo0A
) o IRy IFLY |BoaIFLy (= ok 3 oxsy IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E(E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LF 0.006LLF | 0.03LLF
S'Z - - - - - - - -
4K - - - - - - - -
6H - - - - - - - -
8H - - - - - - - -
10H - - - - - - - -
12H - - - - - - - -
2R - - - - - - - -




Tr>980(1,3-5n = PN ~l TN .
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
[E#{E] 0.01LLF [00025F [ 0.006ELF | 0.003ELF | 0.02LF | 0.01AF | 0.01LLF [ 10LLF
SF — — — — — — — —
4H - - - - - - - -
68 - - - - - - - -
8H - - - - - - - -
10H - - - - - - - -
12H - - - - - - - -
2R - - - - - - - -
EDHIEE
Jx/—)L V) SS 2mR |soofns| e
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHEl - - i - - -
RE - - 1 - - -
e
=] _ — 3 — — —
e
z - - < - - -
e
=] _ — 1 — — —
=] _ — 1 — — —
128 ;E - - — _ _ —
=] _ — 1 — — —
2R g — — — — — —
Bl | BEEE | omen
(mg/1) (mg/1) (mg/1)
ETE] 19000 - -
%BE | 18000 - -
B | 18000 - -
B | 19000 - -
B | 18000 - -
B | 19000 - -
= 19000 - -
2R g = — —




TR20FE

B L CIE DK,
3 1) b b s
5 B A - COD#EH! |A(H#EH) AR ST I
St.6 [ER-HEE - _
—iRIEE _
K& (°C)
XiE _[SE(C) =RE e 2KE 75 B FE T =X 2=
48 £l 19.0 17.9 19.0 38.0 8.0 BE e mR
68l BEh 24.5 21.4 24.5 40.0 5.0 BE kEf-E| &R
8H Bh 31.2 26.5 31.2 27.0 115 BE a28-E mR
108 BEh 25.8 24.7 25.8 41.0 10.2 BE kEf-E| &R
128 BEh 18.6 20.9 18.6 35.0 12.0 BE a28-E mR
28| Bh 13.6 16.4 13.6 37.0 125 BE | GER-R| #E
4FRRIFIER
oH DO COD |XBEHHE |h-~FHUH 2=X EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
EEME| 78~83] 755 F | 20LF | 1000LLF | JEEH — —
EE(75%1E) - 8.1 1.1 0.0 <0.5 0.17 0.012
48 =E 8.1 8.4 0.9 0.0 <05 0.17 0.016
GIE 8.1 8.2 0.8 0.0 - 0.19 0.014
65 == 8.1 8.2 1.6 0.0 <0.5 0.17 0.009
GIE 8.1 7.9 1.4 0.0 - 0.16 0.009
8H == 8.1 7.2 15 0.0 <0.5 0.22 0.010
GIE 8.1 7.8 15 0.0 - 0.24 0.010
105 == 8.2 7.1 1.0 0.0 <0.5 0.12 0.013
GIE 8.2 7.6 0.9 0.0 - 0.12 0.007
125 == 8.3 7.3 0.9 0.0 <0.5 0.10 0.010
IE 8.3 7.7 1.0 0.0 - 0.18 0.010
oH == 8.1 9.6 0.8 0.0 <0.5 0.18 0.015
B 8.2 9.8 0.9 0.0 - 0.15 0.015
BEIEE (REDHEHAD
N INESS S &0 ANE/RL| MR fikéR |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
E <0.001 <0.1 <0.005 <0.02 0.001 <0.0005 - <0.0005
4K - - - - - - - -
68| <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 - <0.0005
8H - - - - - - - -
108]| <0.001 <0.1 <0.005 <0.02 0.001 <0.0005 - <0.0005
12H - - - - - - - -
2R - - - - - - - -
yani| migke [1,2-0900( 1,1-C4an [ z-1,2-4(1,1,1-F)40] 1,1,2-ry4a | FJo0A
) o IAaY IFLY | AaxTFLY oT4ay oT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E(E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LLF 0.006 LLF | 0.03LLF
E <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
4K - - - - - - - -
68l <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8H - - - - - - - -
108] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
12H - - - - - - - -
2R - - - - - - - -




T4 00(1,3->4sn0 = s oy ata FARY UTR . HHMERRU
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF [ 0.006 LF [ 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
E <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.09
4A - - - - - - - -
6H <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.15
8H - - - - - - - -
10AH <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.02
12H - - - - - - - -
28 - - - - - - - -
ZDHhIFE
Jz/—n| 6 sS =S T DI TIVN s
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
:Fﬂﬂl_g <0.02 - 1 <0.005 <0.001 <0.008
xRE - - 1 <0.005 - -
4R th 8 — — ] — — —
68 xRE <0.02 - 2 <0.005 <0.001 <0.008
= - - <1 <0.005 - -
8H hE - = <1 - - -
108 xRE <0.02 - 1 <0.005 <0.001 <0.008
e - = <1 - - -
xE - - <1 <0.005 - -
12H e - = <1 - - -
xRE - - 1 <0.005 = -
2
A /g — — ] — — —
EiLt | EHEMN . .
(mg/1) (mg/1) (mg/1)
FEHBE| 18000 - 0.01
48 xRE 18000 - <0.01
=] 18000 = -
68 xRE 17000 - <0.01
@ 17000 = -
8H xRE 19000 - <0.01
=] 19000 = -
xRE 18000 - <0.01
10A th S 18000 - -
xRE 19000 - <0.01
128 th S 19000 - -
28 xRE 19000 - 0.01
i | 19000 - -




